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1 def slhs(a,b):

2 avg=(a+b)/2

3 print(avg) # 2w @ ERF > 2 Jf i ficp print() 0 BRI E BT B 5% 0 avg=65.0
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1 def slhs(a,b):

2 avg=(a+b)/2

3 return avg # A& w i avg ¥

4 | ans=slhs(40,90) # /A FARGFFA4F IS > LREFF1EF ~ 537
5 | print(ans) # ans = 65.0
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1 def slhs(*score): # score = (40, 90, 30)
2 sum =0

3 for i in score:

4 sum+= 1

5 return sum

6 | ans=slhs(40,90,30)

7 | print(ans) # ans = 160
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1 def slhs(**score): # score= {"F = ":40,"%® < ": 90, "# 5 "":30}
2 sum =0

3 for 1 in score:

4 sum-+= score[i]

5 return sum

6 | ans=slhs(& = =40, &~ =90, &£=30)

7 | print(ans) # ans = 160
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1 def fac(n):

2 ifn==

3 return 1

4 else:

5 return n * fac(n-1)

6 ans = fac(4)

7 | print(ans) # ans = 24
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fac(4) =4 * fac(3) =24

fac(3) =3 * fac(2)

fac(2) =2 * fac(1)
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fac(1) =1 * fac(0)

fac(0)=1
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def fib(n):
ifn=0:
return 0
elifn==1:
return 1
else:
return fib(n-1) + fib(n-2)
ans = fib(5)
print(ans) #ans =15
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